# **Penthouse in Rabat**



#### Rabat, North



## €475,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m<sup>2</sup>) : **140** 

Bedrooms: 2

Reference No: 240081079-199

## **Penthouse - For Sale - Rabat**

RABAT - Brand new luxury block on the market. Two bedroom corner Penthouse with a lovely layout and full of natural light. Squarish layout consists of a large open plan kitchen / sitting / dining, bathroom, two bedrooms plus en-suite. Property also benefits from a large front terrace. Property also includes its own airspace. Optional garages in the same block are available at an additional price. Contact us for viewing

### **Features**

- 🗸 Lift
- Video Hall Porter
- ✓ Water Utility
- Gypsum Plastering
- Terrace
- Air Space

- Ceramic Floor
- En Suite
- Electricity Utility
- Double Glazed
- Yard
- Satellite / TV/ Cable

## Rooms

- Kitchen/Living/Dining : 5.42 x 9.33 m (50.57 m2)
- Bathroom : 14.86 x 3.33 m (49.48 m2)
- Shower Ensuite : 0.6 x 3.42 m (2.05 m2)
- Double Bedroom : 4.08 x 4.68 m (19.09 m2)
- Double Bedroom : 4.29 x 3.2 m (13.73 m2)
- Open Space : 9.33 x 3 m (27.99 m2)
- Open Space : 1.5 x 4.1 m (6.15 m2)

# Gallery

















Joycelynn Bonello RE/MAX Central - Birkirkara

M: 99881119 E: joycelynn@remaxcentral.com.mt T: 21480165

**RE/MAX Central - Birkirkara** Central Real Estate LTD,Triq Dun Karm, Birkirkara, Malta